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That the man should not reach out so
far.

That the man can accomplish what he
wants.

That the man will be unable to
graduate.

That the man cannot score a goal.

She couldn’t afford a new computer.

The computers were not on sale.

She was unable to get a new
computer.

She bought a new computer.

Visiting a doctor.

Attending a reception.
Applying to medical school.
Interviewing for a job.

1t met her expectations.

It was rather mediocre.

It was what she had hoped to see.
It was the last performance.

Going home on the bus.

Sleeping on the bus.

Taking a quick walk.

Getting some sleep before going
home.

The course is free.

The course costs $100 more this
semester.

The course was cheaper last semester.

She thinks the cost of the course is
too low.

That he would be at work.

That he knew a lot about architecture.
That he did not get the job.

That he would not be at home.

The rider took the road to the
hospital.

An ambulance took the rider to the
hospital.

The ambulance left the hospital with
the rider.

The motorcyclist followed the
ambulance to the hospital.
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He cannot work on the assignment
because of a headache.

He thinks the assignment will take
about two hours.

It would be better to prepare two
assignments than one.

He prefers not to work on it by
himself.

The project that the woman wants is
impossible.

Two hours is not long enough to
complete the project.

The woman'’s request can be
accomplished.

The woman should not ask for such a
thing.

He is not very impressed with it.

He thinks it is fantastic.

He does not want more pressure on it.
It is less impressive than expected.

She spent her normal amount of time
on it.

It is rare for her to finish an
assignment.

1t is rare for her to put any effort into
an assignment.

She spent more time than usual on it.

It was not cold enough.

The snowball struck him forcefully.
The snow stayed around too long.
It was too cold.

That she couldn’t get into the lab.

That she wouldn’t do the assignment.

That her lab assignment was already
done.

That she would start working in a
couple of hours.

She took the stairs out of necessity.
She didn't want to take the elevator.
It was only a few flights of stairs.
She preferred to climb the stairs.
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